
 بنت 3ابن    3       ام          ابنت                      ب 2ابن    2    زوجة       ام           اب                 

 ق         1/6        1/6ق                                             1/8     1/6       1/6                

24             4           4          3           13                     6            1        1           4 

24*6         24          24       18          88                   54            9        9             36 

 

 توافق في الثلث

 2592=  18* 144المسألة الجامعة : 

 

  432=  18*24 اب  1/6

  432= 18*24 ام  1/6

  / م 18 زوجة 1/8

  468= 18*26 ابن 

  468= 18*26 ابن 

  234= 18×13 بنت 

  234= 18*13 بنت 

  54= 6*9 اب 1/6 

 54= 6*9 ام 1/6 

 516=  468+ 48=  6*8 ابن  

 516= 468+  48= 6*8 ابن  

 48= 6*8 ابن  

 258=  234+ 24= 6*4 بنت  

 258=  234 +24= 6*4 بنت  

 24= 6*4 بنت  

 

 2592المجموع                                                                                            

 


